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B.Sc./B.Com., (Pt. I) Printed Pages : 24
B.Sc./B.Com. (Part-I) Examination, 2023
(Three Year Scheme)
(1042+3)

(Common for the Faculties of Science and Commerce)

(For Only Regular Students)

ELEMENTARY COMPUTER APPLICATIONS
Time Allowed : 2 Hours
Maximum Marks : 60

Minimum Pass Marks : 22

Note: (1) Attempt all the 120 questions. Each question carries %2 marks.
Teft 120 599 71 FIRT | TOF TH Y FAF F12 |

(2) Make sure that your question booklet has all the 120 questions.
Defective booklet can be got changed within 15 minutes.

we gf%rent 3wt 120 w9 oY §, 3ot St ik | 3feqel gt =6t 15
firre & sreeramn 1 whaT £ |
(3) Read the instructions given on question booklet and OMR sheet before

starting the answer. All entries should be filled by Blue or Black Ball-
Point Pen.

I fored & o -t td OMR e & forg frdstt ) ve o | ot
wfafeat et svean et afer-wame 39 & € ot |
(4)  Select the best possible answer and darken the correct answer A or B or

C or D in the circle corresponding to that question in OMR sheet with
black/blue ball-point pen. Answers if written in the Question-Booklet
will not be evaluated. ’

fed o = faemedl A nmcmnﬁﬁu‘qﬁﬁmﬁwﬁomwﬁz%
ﬁqﬁaﬁmﬁﬁﬁﬁﬁawézﬁqﬁmaﬂwﬁwaﬁ | ¥ - gfeder §
afe Fer e sl & a1 378 el it sy |
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.  USB Stands for :

(A) Unique Serial Bus (B) Universal Sequential Bus
(C) Unique Sequential Bus (D) Universal Serial Bus
USBHI 3 ] :
(A) e Hifiaet 58 (B) Irade dRfrEd =@
©€) T iR w9 (D) e Hiftae w9
2. What type of memory is RAM ?
(A) Inner (B) External
(C) Assistant (D) Main
W (RAM) Framg i b ?
(A) (B) =&l
(C) wEEH (D) 7=
3. Which of the following is not an output device ? :
(A) Plotter (B) Printer
(C) Monitor (D) Touchscreen
= g amseye feemm i R ¢
(A) = ®) B
(C) Hi (D) &R

4. The device used to carry digital data on analog lines is called as
%ﬁm%ﬁwﬁa@m-ﬁm%mwmaﬁa@maﬁwm%

(A) Modem (B) Multiplexer
(C) Modulator : (D) Demodulator

5. While working on Microsoft Word, which among the followin
TSGR 98 T hTH i @9, “Undo” % fome fim § Y 5y
(A) Cui+A B) Ctl+z
(C) Cul+yY D) Cul+C

g is_the command for “Undo” ?
HIHAE R 7

6.  The set of instructions which tells a computer what to do is called

ol o1 1R g ST et 1 ST & 36 0 e 3, e 2

(A) Maﬂ'Bl' (I3) []]Stnlctol.

(C) Compiler (D) Program
7. Processor has three ma_in parts :

g i e T E

(A) ALU, Control Unit, Reg.istcr (B)  ALU, Congy e

(C) Cash, Control Unit, Register (D) RAM, ROMO é-}[l)‘n:{ghodm
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8. During data processing, programs and processed information are held temporarily in
a1 TR & SR, S 3R e e @ e T S F @IS |

(A) Secondary (B) ROM
(C) RAM (D) CPU

9.  What is the name of digital circuit that performs arithmetic and logical operations in computers ?

HIE H HH IR Aifhes St o1 frogre w0 a6t e afbe sraman g ¢

(A) Arithmetic Logic Unit (B) Digital comparator

(C) Multiplexer (D) None of these
10.  One kilobyte has :

e fereramge § B g |

(A) 1000 bytes (B) 128 bytes

(C) 1024 bytes (D) 1036 bytes
11.  Who is the inventor of the computer ?

(A) Von Neumann (B) J.S.Kilby

(C) Charles Babbage (D) None of these

FIE b T RE HH & 7

(A) TR (B) <.ug, feresit

(C) =ed 5 (D) THADETE

12, What is HTTP 404 ?
(A) An error message indicating server not found.
(B) An error message indicating moved pennanéntly.
(C) An error message indicating forbidden.
(D)  An error message indicating server found.

HTTP 404 F1% ?

(A) T fren” 3 e oo o R TR |

(B) R w9 q wRiARa” 3 e e o 3R wew |
C) “Rftg" 3 = aren we 3 Ty |

(D) “e forer” i e e oo fe W |

13. A portable computer that is small enough to be held in one’s hand.

(A) Icon (B)  Program
(C) Handheld ' (D) Server
mﬂﬁa@ﬁr%@ﬁ%mﬁt@ﬁ%ﬁmwﬁbﬂa@m%i
(A) T (B) mm
© FTs D) §R
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14,

15.

16.

17.

18.

19.

1014

Which of the following is NOT a hardware of a computer ?

(A) Windows (B) Monitor

(C) Central Processing Unit (D) Keyboard

271 7 8 B FRE HT AL 7

INIREEE (B) wife

(©) Hge TR gfhe (D) HErd

The main circuit board of a computer is called a

(A) Hub (B) RAM

(C) Power supply (D) Motherboard
FERAF A AR TEH  FEAEE

(A) - ® W

(C) YRR HETR (D) ucES

Which of the following is a web browser ?

(A) Word (B) Paint

(@) Powe}"Point (D) Google Chrome
freforfiea 3 4 9 o da IR 7

a) = | ®) W

(C) E=Tse | (D) T I

What is the full form of a “PC” ?

(A) Power Computer (B)  Production Computer
(C) Personal Computer (D) - Process Control
((PC!:WTEWW% ? .

(A) TREFRR B TemRwER
(C) TET HIH : (D) wRE I
Which of the following is an impact printer ?

o o 4 e s gl i @ 7

(A) Laser printer (B) Thermal printer
(C) Dot matrix printer (D)  Ink Jet printer
What is the full form of “IP” 7

“Ip” T E R 7

(A) Internet Program (B)  Internet Protogq
(C) Interface Program (D) Interface Protoco]
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20.

21.

22.

23.

24,

25.

1014

Which of the following shortcut key is used to select the entire document ?

faafeaa 3 & S it wirdae St o Il aqot aRae w1 e e 3 for e ST @ 7

(A) Ctl+ A (B)
(C) Shift+ A (D)
A Website’s main page is called its :

Th JTETEE % T T8 I 71 gl N & ?

(A) Home Page (B)

(C) Search Page (D)

When is Computer Literacy Day celebrated ?

(A) 5 December (B)
(C) 22 December (D)
P BT foae el WA A § 7
(A) 5 e (B)
C) 22 fea (D)
Which of the following stores more data ?
(A) Floppy (B)
€ CD (D)
Srfrfiaa § & BN 1R Lo T FAT e ?
(A) Floppy (B)
€ CD (D)
One gigabyte (GB) is equal to how many bytes ?
qmvﬁmm(ﬁﬂ)ﬁwfﬁaﬁz%awéﬁé ?
(A) 1024KB (B)
(C) 1024GB (D)
IC chips used in computers are made from
(A) Chromium (B)
(C) Silver (D)
gzl 3 sy o1rg. . o wd
() foeard (D)
5

Alt + F5
Ctrl+ K

Browser Page
Bookmark

14 December
2 December

14 fegmr
2 femmr

DVD
None of these

DVD
FHABE T

1024 MB
1024 TB

lron Oxide
Silicon

HIH e o
fafernia @
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26. While sending an e-mail, if an e-mail address is put into field, the person will get a copy
of the e-mail but no other recipient will see the e-mail address that was put in the above field.

-1 Yo g, Ife A% $-0 v Fiee 3 el A 2, A =ifn @1 $-Hel i T Ul
v TR, AR IS 31 T 3T $-Ae T ) Tl S T Y 3 Hies o S T T |
(A) Cc (B) Bce

(C) Junk (D) Subject

27.  While working in MS Word, what is the meaning of the red color underline that appears below a

word ?
(A) Document error (B) Spelling error
(C) (A)and (B) (D) None
MS Word ¥ %™ 5t w7 et wieg 3 = fe@ areft et sher Y STl 1 1 Haed g
27
(A) g ®) e
© (A)3M(B) D) T
28.  The basic unit of a worksheet into which you enter data in Excel is called a :
(A) Tab (B) Cell
(©) Box (D) Range .
ahefiz sl 7ot oS forert a1 wer 3 3o oot o &, e 2
(4) = ®) ¥
©) ==w O W

29.  Which of the following is hardware and not software ?

(A) Excel | (B)  Operating System

(C) Control unit (D)  PowerPoint

famferfia i & i o grdar & 7 b wivedm

(4) ua%a (B) ATRfIn Ry

(C) wgeigfe D) ez
30. What type of device is a keyboard ?

(A) Output (B)  Input

(C) Upload D) D ,

£1-ard o s 1 Fearga 2 ¢ load

(A) IRE B) Ty

(C) HTHE D) TR
1014 6
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31.

32.

33.

34,

35.

36.

1014

Dot matrix is a type of which device ?

(A) Mouse (B) Printer
(C) Scanner (D) Keyboard
gie ifeaa frm s frm g 7

(A) HI3E B) B
(C) TN (D) &

What is the accurate combination of keys to save 2 document ?
mmﬁﬁﬂ%ﬂﬂ(save)m*maﬁﬁﬁmmaﬂl% ?
(B) Ctrl+F

(A) Cul+S
D) Alt+S

(C) Alt+F+A

To prepare a presentation / slide show which application is commonly used ?
ﬁﬁ%m/wmgﬁﬁﬁanaﬂﬁ%%@ymﬁtm%amﬂ%mwmﬁm%mm% ?
(B) PowerPoint

(A) Outlook Express
(D) Internet Explorer

(C) Photoshop

What is'the default file extension for all Word documents ?

aﬁaémﬁsﬁ%m%mmw%mw%?
(A) TXT (B) FIL
(C) DOC (D) WRD

A type of software that is used to assist the user :
(A) System software (B) Firmware

(C) Application software (D) All of the above
@mﬂﬁmmﬂu@mgﬁmmeﬂﬁm%ﬁ%@m%:
(A) Tren HiRTT ' (B) WHAW

(C) TP AR (D) SHE |t

What is the full form of Wi-Fi?

(A) Wireless FIDE (B) Wire Fidelity

(C) ~Wireless Features (D) Wireless Fidelity
WiFi & 51 G T eI € 7

a) RS B) TR

() B (D) R RERE

7
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37.  This type of memory is commonly called temporary or volatile storage :
30 TR h A BT TG T SR 1 Feleset RS HET AR -
(A) ROM (B) RAM
(C) Flash Memory (D) Virtual Memory

38. Which of the following is NOT an operating system ?

1 5 8 W v Sfen e T ® 7
(A) Windows Vista (B) Linux
(C) SunOS (D) Google Chrome
39.  Youcanuse to copy selected text ; and to paste it in a document.

3T S9fa SR ) Hid H@ ¥ R FINPHEEI TR FA R g
I ITAT FERA § |

(A) Cul+C,Cul+V (B) Ctrl+C,Ctrl+P
(C) Ctl+S,Cl+S (D) Shift+C, Alt+P

40.  To correct the spelling in MS-Word we use .
MS-Word ﬁﬁ%ﬂ@%ﬂﬂﬁ%%ﬂ;%ﬂﬁﬂ?ﬂmﬂﬂﬁ% ?
(A) Spell Pro (B) Spelicheck
(C) Outlook Express (D) None of these / 371 A 15 7a

41.  One type of software that can be used for free :

(A) Freeware sofiware (B) Off-source software
(C) Smartware (D) Spyware
U YT 1 Hivzaa fora 3w £33 foran s weman -
(A) I GiRam (B) - wiwway
(C) IR (D) AR
42. To save an existing file with a new location we should yse _ _command
(A) Save (B)  Save and Replace
(C) Save As (1) New File
fore) HISTR1 W1ge ol AU dYA & I B % & for i) WS &y Iqa e iR |
(A) Save (B)  Save and Replace
(€) Save As (D) New Fije
1014 8

https://www.pdusuonline.com




43. WhatsApp is an example of :

(A) System software (B) Application software
(C) Open-source software (D) Embedded software
ferferRea 3 & sgreaTy e SR ?

(A) v divam (B) U Wiwa
(C) INo-u Hiveam (D) TS TRPR

44. ‘The word wrap feature -
(A) Automatically moves the text to next line when necessary.
(B) Appears at the bottom of the document.
(C) Allows you to type over text.
(D) Is the short horizontal line indicating the end of the document.

78 W BT

(A) ST A T YR Y T €9 A JWTef Ufeh # ¢ SR |
®B) e 5 A R Frd |

(C) ST 3L W 2EH e o I < & |

(D) e 3 37 1 Thd 3 el B1d Afoe R |

45, 'What is the smallest unit of data in a computer called ?

(A) Bit (B) Byte

(C) Nibble (D) Kilobyte

s 321 oY ER DY) RIS 1 e € 7

A fwr (B) g

) fese (D) feretiemee
46. Bold, [talic, Regular are known as

(A) Font styles (B) Font effects

(C) Wordart (D) Text effects

Sieg, e, TIER S 1A §

(A) Wi=REd (B) IR 3R

(C) @R (D) TRT ThF
1014 o
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47.

48,

49.

50.

1014

What is hardware ?

(A) The physical parts of the computer including the monitor, the keyboard and the mouse.

(B) The operating system and other programs such as Microsoft Word and Microsoft
PowerPoint.

(C) Neither

(D) All

TR AR 7

(A) W, HrE i 3w Wi Hepet & wifees am |

(B) i R 3ik s o 3w o€ i wEmER TR |
(C) THHAREHTE |

(D) ufi

What is a communication network used by large organizations in a regional, national or global
area called ?

T HR e I &FAT, T A S & 3 i TTetl gra SR R e 2, T e £ 7

(A) LAN (B) WAN
(C) MAN (D) VAN
What is machine language ?

(A) A language used by cars,
(B) Machine language is made of 1’s and 0’s.
(C) Machine language is made of 7°s and 8's.

(D) A language that only understands plain English.
TR TR 7

(A) T gT SR i I et W |
®) weit w1 oA IR
(C) et v 7 g R Qe 2 |
(D) T Ut TS S sheret W) ST e R |

A Spreadsheet contains :

(A) Columns (B) Rows

(C) Rowsand Columns (D) None of these
T Tedie H i B

(A) T (Hiem) (B) fmat (2
() dfeieiiwm D) FHIARETE

10
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S

52.

33.

54,

35,

1014

Which device is used to prevent loss of data during power failure ?

(A) Modem (B) UPS
(©) ROM (D) Floppy
Wﬁm%mmﬁwﬁm%mmmmmﬁmw 27
(#) e B) e

© W D) i

Which of the following is (are) Language Processor(s) ?

(A) Assemblers (B) Compilers
(C) Interpreters (D) All of the above
Faferfaa 3 4 S wor samm () 7

(A) IHFEER (B) IR

C) /R (D) I Wt

What is the correct combination of keys to find text on a document ?
Tt Teamas W e Wi % foTe Fhorl w1 el e T R 2

(A) Alt+F (B) Ctl+T
(C) Ctl+F (D) Ctl+H

Which one of the following is the correct sequence of the four major functions of a computer ?
(A) Input, Output, Process, Storage (B) Process, Output, Input, Storage
(C) Process, Storage, Input, QOutput (D) Input, Process, Qutput, Storage

Rreifrfaa 3 A A T T R TR @ H H I FAE ?
(A) ﬁgz,amagz,ﬁﬁa,@ia (B) W, YL, FIYL, WS
(€)Y, RS, YT, 3TRLYE (D) $ge, W4, ARG, ©iw

Which of the following is the ascending order of the data hierarchy ?

(A) ];y:c.nil—l'*‘iIc-Rccu-rd-I)uuabnsc-l?ichl (B) Ficld-Byic—Bit-Rccn1~d,Fﬂ¢}Dambase
() ]]it-[iylc-llccurd-I"ic.:ld-l):lluh;mc-Filc (D) I1il'Iayw'ﬁcld*R‘l‘m‘d-File—Database
Fsferfiga A oA @l o1 RUTEht (data hierarchy) &1 a@r&tm (ascending order) & ?
(A) alga_{-g,g_q;[ga—i‘rcﬁ“fé—?.alﬂa—tﬁ}?s (B)  Fes-age-fae-Rentéwrger- 2o
© fe-w gz - Neptd - s -3~ (D) foe-a2- e -Rewtd-wrger—Sori

1
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56,

57.

58.

59.

60.

61.

Which of the following is an example of Intellectual property ?

(A) Patent (B)
(C) Copyright (D)
Fr= 1 i g g IR R 7

(A) W= (B)
(C) bR (D)

Which type of charts can Excel produce ?
(A) Bar charts, line graphs and pie charts (B)
(C) Bar charts and line graphs only (D)
T foRe TR 3 S¢S IETEH HTHAT § 7

(A) THERE, TF TG AITEIRE  (B)
(C) o SR <eE Y o U D)

Which of the following is not a hardware ?
(A) Microprocessor

(B)
(C) Keyboard - " (D)
fradasnmadam g 7
(A) ISR (B)
©) e (D)
What is http in the URL of the Website ?
(A) Server (B)

(C) Protocol

Trademarks
All of the above

s
ot

Line graphs and pie charts only
Only line graphs

HeEt TS T 7T 9IS 1gH
e AT T

Monitor

Microsoft Word

iR |

AIFHIGR T

Website Name

(D) None of these

J=915e % I3 (URL) & wordidid) (hitp) =R 8 7

(A) TR
(C) e

(B) J=HIE H1 AW
(D) T BE TE

Process of finding errors in software code is called :

(A) Debugging
(C) Password

1014

(B) Bugging
(D) Compiling

Hies Hre H e go B shrn B wea § 2
(ay fostim ®) afm
(C) s D) Fus
What is a computer virus ?
(A) Protocol
(C)  Windows Tool Eg)) f{zigiu;; Program
S T T BT 8 ?
*) e ) e
© g (D) TEaR
12
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62.  Which one is the secondary memory device ?
e 190 Regm e € e ¢
(A) CPU (B) ALU
(C) Floppy Disk (D) Mouse
63. The keystrokes Ctrl + 1 is used to _
(A) Increase font size B) Ins?rt a line break
(C) Apply italic format to selected text (D) Indicate the text should be bold
FIRE Ctrl + 151 58 % fore fopan S @ |
(A) Wi R TR
(B) U WEd 5% Wifera &
(C) <afa dE R W Rfeve yred Sy
(D) I e BT wiw 78 3 %
64.  With which symbol should all formulas in MS Excel begin ?
MS Excel ¥ @t wifet fvm g (symbol) & Y& B =1f3T ?
@A) ( B +
© = O @
65. Computer security can be increased by using ?
(A) Antivirus (B) Password
(C) Firewall (D) All of the above
HEEL T T I [hEh GRI SR 1 Fehell § 7
(A) wHiaE (®)
(O wEEE (D) S wff
66. India’s first super computer is :
(A) Trishul (B) Param
(C) Flow solver D) Agni
T 1 B G FYH 2
(A) P (B) ™
(C) well EiewR D) arf
67.  Getting data from a cell located in a different sheet is called
(A) Accessing (B)  Referencing
(C) Updating (D)  Functioning
T 7o Site 3 TR Bt & 21 WTH HEH] FET &
(A) T T () (B) wiftm
©) R (D) et
1014 , 13
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63.

In MS Word the item which appears dimly behind the main body text is called :
(A) Water Colour

(B) Background

(€)  Watermark (D) Back Colour
MS Word 3 e a1 ¥ae 3 < a1rgen fen fem G e, 78 @
(A) TR (B) FURS
(C) dicwmh (D) <% R
69. What is the full form of DVD ?
(A) Digital Vector Dicehison (B) Digital Versatile Disc
(C) Digital Volume Disc (D) Digital Visual Disc
S (DVD) HI P FIFIE ?
(A Tefea aeet sgger ®) T stosa &
(©) T sicym fowp ©) fefea frgem fswn
70. By whom the conversion of input to output is done ?
(A) By memory (B) By peripherals
(C) By input and output (D) ByCPU
G T 32 ET Tohe G feha e 27
(A) T8 g (B) R g
(C) e 71 HBIYL G | (D) #.d.g ga
71.  What is the process of removing unwanted parts of an image ?
(A) Hiding (B) Bordering
(C) Cropping (D) Cutting
WIS 3 37ifesa W ) g o WRn e ?
(A) @rfem ®) Efon
(C) i (D) i
72. A file which contains readymade styles that can be used for a presentation is called :
(A) Pre-formafting (B) Auto Style
(C) Wizard (D) Template
v Fre ol Eins Afewt (slyles)@?ﬁ%ﬁiﬂﬂaﬁiﬂﬂﬂ?ﬁw%mmmm%,
FHEA 8 :
(A) S-wmfin (B) ofAIwEa
© fFmrE (D) R
1014
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73.

74.

75.

76.

77.

1014

In MS Word, Ctrl + J is for

(A) Align Justify (B) Insert Hyperlink

(C) Search (D) Print

weE sE ¥, Ctrl + J foraes Riu R 2

(A) T ACRHR (B) ETEHIeH SH
(© @ (&) o fi

Ctrl + H is used for :

(A) Open Find and Replace Dialog box with activating Replace Tab.
(B) Open Format Dialog box activating Insert Hyperlink Tab.

(C) Open Insert Dialog box activating Insert Hyperlink Tab.

(D) Open Insert Hyperlink Dialog box.

Ctrl + H&I @M fran s g :

(A) e 3 R T 5 i weel” e W G |
(B) T TR 9 B wh W g Wi gl S e |
(©) T rewlich 39 3 W hie! g A ST il T |
D) U TR g iy Ged | |

Portrait and Landscape are _

(A) Page Orientation (B) Paper Size
(C) Page Layout (D) Allofabove
(A) S G | (B) YWHRS

(C) USSR (D) IRE &

What is Bluetooth wireless technology for ?
(A) Local Area Network (LAN)
(C) Both (A)and (B)

e TR AT fohee e g
(A) WA U JEah (LAN)

(C) i (A)TE (B)

(B) Personal Area Network (PAN)
(D) None of the mentioned

(B) Wl T Jeadh (PAN)
(D) I d YR

ULSI stands for :
ULSI &1 7acT § :
(A) Ultra Large Scale Integration (B) - Under Lower Scale Integration
(C)  Ultra Lower Scale Integration (D)  Under Large Scale Integration
15
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78.  The generation which is based on the VLSI microprocessor :

gt S AT TIGHISEE T AR 2 :
(A) 1% (B) 2
(C) 3¢ (D) 4%

79.  In which of the following computer-generation vacuum tubes were used ?

(A) First-generation (B) Second-generation
(C) Third-generation (D) Fourth-generation
fReferfRera 5 & form Shegen-dh o S o w51 SRl foven S o ¢
A) W i (B) feefta di
© v D) =gd et
80.  To which company does G-mail belong ?
(A) Rediff (B) Great mail
(C) Yahoo : (D)  Google
S-Net fopm ool S W & 2
A) = (B) Teiw
(C) 3Ig (D) 7T

81.  Which one of the following statement is correct for the term URL ?
(A) Itisa type of programming object.
(B) Itis a computer software program.
(C) Itisthe address of page on World Wide Web.
(D) Itis an acronym for unlimited resource for learning.

ffofea T @ s @ URL T S R agd 2 2
(A) T8 T YR T T Sifedae |

(B) % T FHZ IR T |

(C) WIS TTITWITHIYATR |

(D) g Iedwg fard B et e s 2 |

82. Which of the following is a valid image extension ?

freferiea 3 8 = o1 o 9y 9 waeT e 7

(A) BOMB (B) JPEG

(C) DOS (D) DOC
1014 16
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83.

85.

86.

7.

88.

1014

What is the full form of OCR 2

(A) Optical Character Rendering
(C) Optical CPU Recognition

OCRFI P AR ?

(A) e et tefin

(B) Optical Character Recognition
(D) None of the above

(B) ifRewe ha fepfrvm

(C) iehet Hify Repfrem D) FHAPETE

Windowsisa(n) - created by Microsoft.

(A) Web Browser
(C) ‘Word Processor

fSE HTEshIETIR GRS T 2l

(A) o9 WP

(B) Computer
(D) Operating system

(B) X
(C) o€ AW (D) AR Rren
MS Office 1s used ?
(A) i making documents (B) making a presentation
(C) creating a spreadsheet (D) All of the above
MS 3iTohE =1 3uRW foh o 8
(A) SHEE R A ®) WREFTEE
(C) Tewfies HA (D) S Tt

The cache memory works between

—— https://www_pdusuonline.com

2L o= S HT R |
(A) ROM and/ 3R CPU (B) RAM and /3R ROM
(C) CPUand/ 3T RAM (D) Random and /3R Secondary memory

When you delete a file in your computer, where does it go ?

(A) Recycle bin

(B) Hard disk

(C) Taskbar (D) None of these
T 3T 319 HY H IS WIS B2 &, 1 o el A B 7
(A) frawe i B) TEfe=
(C) rehuN (D) T H RIS o i
How many numbers are there in Binary System ?
(A) One (B) Two
(C) Eight . (D) Ten
S foreen B fre T B 8
(A) T B) &
© s D) &
17
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90.

91.
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1014

Loading of Operating System in Computer Memory is called as ?

(A) Loading (B) Booting
(C) Merging (D) None of these
FI A e Rren de s0 R = w7
(A) <hfEm (B) wfem
(C) =i (D) FHABE A T
What is an Operating System ?
(A) Microprocessor (B)  System Software
(C) Translator (D) Memory
T AR Rrem 2 2 |
(A) HERITEE (B) foreew wiveam
C) TR (D) A
Which of the folli}wing is database management software ?
(A) MS Excel (B) MS Access
(C) MS Paint (D) MS Word
7 3 & e Honie iy
(A) T TR (B) THGH uE
©€) wwi (D) TTEaE
DNS stands for :
(A) Direct Name Service (B) Domain Name System
(C) Domain New System (D) Drop Name Service
HEFH 2
(A) SmEm iy (B) = freem
(©) erm = fiew (D) g widyg

Which is the first counting machine ?

(A) Calculator (B) Differential engine
(C) Abacus (D) Clock
T geeh o A B e
(A) Fepet B) fewifirm s
(©) ¥ ©) T (i)
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95.

96.

97.

98.

1014

which of the following is not a type of cyber crime ?

(A) Datatheft (B) Forgery
(C) Damage to data and systems

freferfed A | I |1 A A0 1 0 YR TR 2

(A) = (B) e
(C) = 3R freew = Joam

Which of the following is the most powerful computer ?

(A) Mainframe Computer (B) Super Computers
(C) Micro Computers (D) Personal Computers
1 1 & T wiiermel S P R 7

(A) T R (B) FRFAX

(C) TESh! AR (D) R F
The text located in the upper margin of the page is called .

(A) Footer (B) Column

(C) Header (D) Paragraph

49 % I WA | fRm S i _ FEAE |

(A) X (B) HIeH

C) TKH B (D) WETH

Which of the following is not an internet browser ?

(A) Firefox (B) Safari

(C) Chrome (D) Google Plus
PR R w et TR AE B ?

(A) wEHEY (B) wHi

© #m (D) T T

Data security threats include :

A o
(A) Privacy invasion (B) Hardware failure

(C)  Fraudulent manipulation of data (D)
ler All of the ab
321 geer @il 1 wnfirer o

(A) T SR (B) B e
© 3o ww 0) vRwwh
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(D) Installing antivirus for protection

(D) e ¥ foru G aiid HE
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100.
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104.

1014

Which of the following is not a characteristic of a computer ?

(A) Speed (B) Intelli gence
(C) Automation (D) Versatility
freaferiaa 3 & o d e o fersiaan 7 2 7

(A) T (B) g

(€) wERH (D) =geE e
Which of the following is not an operating system ?

4= 3 & e 1 o e R T R 7

(A) DOS (B) Java

(C) Windows NT (D) Unix

Which of the following is not an input device ?

(A) Mouse (B) Keyboard

(C) Lightpen (D) Visual Display Unit
A PR & e feama i & 7

(A) w® (B) HErE

(C) v (D) 3T &I 515
The CPU and Primary memory are located on the

(A) output device (B) storage device
(C) motherboard (D) expansion board
CPU 3R 3135t 3910 fr o fRm Bt & 2

(A) Fm3ege feary (B) werv fgamsy

(C) weErE (D) femrarE

A computer virus usually attaches itself to other computer program is called :
(A) Trojan horse (B) Worm

(C)y Virus ‘ (D) None of these

U P AT WG T i 37 R ST & g e R, Faetray &
(A) M e (B) =i

(C) =mE (D) T A g Tl
CRT stands for

(A) Cathode Ray Tube (B) Cosmos Ray Tube
(C) Crystal Ray Tube (D) None of these
CRT &1 Heierd & :

(A) FdEIZE (B) HEig gy

() Freaizge (D) 57 9 1§ 7y
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105. Which of the following vigyg
attractive way ?
(A) Chart
(C) Semicolon (B) Table

' : (D)  Colon
ﬁqﬁ%ﬁq%ﬁﬁﬂmﬁ'@mﬁﬁmamﬁﬁaaﬂ%ﬁﬁgﬁmﬁ&ﬁzm%:

) (B) 81
© (D) e

Y represents data and information in an easy to understand and

106. What is memory in Computer 9
(A) Isasequence of instructions.
(B) Isthe device where information is stored.

(C)  Is adevice that performs a sequence of operations specified by instructions in memory.
(D) None of these

TR TR R 7

A) FeiwwEEAR

(B) &% ISV & &l BRI WL Bl 8 |

(C) U I & o gl 3 el gro i deer o STgn o STER Tl HEIE |
(D) THABE T

107. The first cell in an MS Excel worksheet is labelled as :
MS Excel a3tz 3 wom & &l % &9 § Aaet AT A g |

(A) Aa (B) AA

(C) Al (D) A0
108, In which year India’s IT Act came into existence ?

T & ST it fera ad siftae o 7

(A) 2000 (B) 2001

(C) 2002 (D) 2003

109. Which printer uscs 4 combination of laser-beam & electro photographic techniques ?

(A) Laser priniers (B) Dot-Matrix

(C) Line printer (D) Daisy wheel
o 1 fijer don - 3 gera) WG web-fien) 6 o o 3w e 3
(A) R fa (B) gie ARay
() g faet (D) 3oft e
1014 21
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What is the full form of e-mail ?

(A) Electric mail (B) Electromagnetic mail
(C) Electronic mail (D) None of these
-0 1 el B R 7

(A) TR Ao (B) Togagehia i
(C) TRt e (D) H B IS TE
The two kinds of main Memory are :

(A) Primary and Secondary (B) Random and Sequential
(C) ROM and RAM (D) All of the above
(A) Primary @7 Secondary (B) Random @¥T Sequential
(C) ROM @I RAM (D) 39 &t
What type of file can be added to a PowerPoint presentation ?

(A) Audio file (B) Textfile

(C) Video file (D) All of the above
U PowerPoint ST 3 et woh 6t et ) S s w2 7
(A) AT wEe | (B) I FEA

©) RfEwrs (D) I7rs aft

A hardware device that converts data into meaningful information :
(A) Processor (B) Input device

(C) Program (D) Protector
ﬁmmﬁmﬁwmﬁmﬁam%:
(A) & (B) ¥y feamem
(C) um D) WReFR

We access the World Wide Web (WWW) using _

(A) Searchengine (B) Browser

(C) Modem (D) UPS

BH__ - WA T TS 9158 39 (WWW) RUETAE |

(A) &I (B) ¥RsR

(C) wieH D) Idim

MS Excel is an integral part of ?
T T fRa A 3 E 7 .

(A) MS Office (B) MS Word

(C) Genome office (D)  Koffice

' 22
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118.

119.

what is full form of ARPANET 9
ARPANET &1 Haelq § 9

(A) Advanced Research Pro
(B) Advance Refresh Projects
(C) All Research Profile Agency Network
(D) None of these / T A 8 7

jects Agency Network
Agency Network

An encrypted format which is used on most product packaging to store product information :

(A) QR code

B
(C) Binary code )

Barcode

(D) All of the above

o TR e, Rt swei samer e <1 A o e e 8 € A 6 fore R
 JWIR:

(A) HIRHE (B) WHTE

(€) TFHHE (D) IR of

A person who breaks into someone else’s computer is called :

(A) Gateway (B) Virus

(C) Hacker (D) None of these

TR 311 o P WX IR JSI1 ST ST S FHEerl 8

() T (B)

€ T (D) ¥ &

What is the encoding of the code called ?

(A) Encryption ' (B) Firewall

(C) Scrambling | (D) None of these

Fre B TR ) § e 1 FEAI & ? ]

(A) FhReM (B) RN

(C) hafem (D) THABETE

120,

1014

What type of cyber-crime, its laws and punishments does Section 66 of the Indian IT Act holds ?

(A) Cracking or illegally hack into any system

(B) Putting antivirus into the victim’s system

(C) Stealingdata
(D) Stealing hardware components

WRART 3T

aﬁnﬁﬂﬁﬁm%ﬁmw%ﬁmm,mwaﬂtégwﬁa% ?

B) ifea 3 freen o GHEHE ST
(C) =l
(D) wrEdEC e I T/
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